EARAROBREBRT —5 XN—ZXBISH—F 20224638218 (B) 1MEKIR2H

¥ C 2\ HSZR—HE EEEE IR
[AXE%) 1 %&:300,00 M ~ 2%&:105000H  33#%:60,00M ~ 43%&:30,000H ~ 53&:15,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
— I : -4-4- - PR (KR
11l | Ze=—z2F0—7 # 5 | Bl 1.(2_2).5 4-4-4-2 | 38.2 1 (4_516) i 7
REVFOVY BIN\VIYIZRVR 75 RS
. 11— — =1 N
) 3| TPV YURRM—F it 4 %??I%TE 1.(223).1 1-1-1-1 | 38.8 6 (3_980) ggg KiR)
RiTT/—%/ B:I—LFVINL 2HIRLS
S~ ~ w LLIAES S, : -8-6- - EEE— (KR
37| 7 | yvEvTI—R # o8 | LA 1.(223).4 8-8-6-5 | 38.0 2 (5_135; i KR
R:FASVIIN BYIPIL—Y LLBSs
= st 4 | ROE— 1:23.7 9-9-9-6 |37.9| - 8 510 |BREGS (KR)
AW 4| F9HAFSD 56.0 (13/8) (o) | EEIES
R:STU—F4 B:IJ0RNT—R YYADTT—L
e w PESZ I : -6-8- - BRAES (KR
N . PIBZdd=R 2 Et R (o7 S A > oy |emne
RIZADIFA—T7—R—F 8B:Yav/IRVF =R Ya oK
= .5 J\hE : -3-3- - SHE (KR)
6189 | RUARTSvIa A4 g 1('12/42')0 3332 196 ! (3?2‘; EJIIF.!R—7
RINZ—NDYR B:AFAIA—UZR RIS
. it 4 | EfRE 1:24.2 2-2-2-4 |39.8| - 3 435 | 1BESE (RE)
7l5|/5|MFUR 54.0 m (5 |HEE
RNT BiNILA WE =2
= KIFE : -7-5- - R (BER)
glglg IRESTT VR # 7 | X (17.2;.72) 6-7-5-6 | 38.9 7 (ﬂ;) gt
R:XYVUSTyR B:OREITIS YN EvIUy RI7—L4
» ERRE : -5-7- - FER (KR
N . BECEEYA=: A R I e P s
RUFIWAVINI b BiFa—kVLT L]
@ 11— —‘@BIEfI
13—7F— 3,5,9,1,6,8,2,7,4
20—+ — 3,5.9.1,6,2,8,7.4
30—7+— 3,5,9,1,8,7,6,2,4
40—7F— 3,(1,9),5,7,(4,8),2,6
o ILRE
BB 1 1M | | 914K 1-3 790M & 1-3 1,400 3EE 1-3-7 2,490
B B 1 100H 1-7 2004 5B E 1=3 1,770M 3EE 1-3-7 8,200
3 380M 3-7 1,960 o= 1-3 2,280M
7 160

ABIC OV TRUTEREERRODDZE. THRIIZEL.



